Multiplication de Trois Trinomes (E)

Simplifiez chaque expression.

1. (97“2 + 9r + 8)(—27“5 — 7t + 9r3)(—2r4 — 43 + 5r2)

2 (8¢° 4+ 7q +5)(—4¢° — 2¢" = 3¢°)(2¢" — 5¢° — 7¢°)

D

3 (=8F  — A+ 8f2)(—AfP + AfP + 8F)(6f1 — 3+ 852

L (=9d° — 3d* — 6d%)(—6d> — 2d* — 2d)(—9d> + 3d* — 2d)

. (7y2 + 5y + 8)(—8y3 — 4y + 2y)(2y3 + 5y? — 5y)

Ot

6. (4¢* +2¢ — 9)(7¢° + 3c* + 4c%) (—2¢” + 8¢* — 3¢°)

7 (4c* = 3¢ +5¢%) (=3¢ + 2 4 8¢)(Tc* + & + 7c)

8. (p* — 5p® + p)(=7p* — 3p® + p*)(—=Tp" + 6p* + Tp?)

e

(=22 4f =8)(f1 =T +5F7)(9f° — 2/ - 3f)

10. (=c* = 9¢ = 5)(=7c* + 6¢ — 5c%) (=5t — ¢ + 7c?)
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Multiplication de Trois Trinomes (E) Réponses

Simplifiez chaque expression.

. (9702 + 9r + 8)(—27“5 Tt 97’3)(—27’4 43 5r2)
= 367" 4+ 23471 + 23007 — 463r° — 23417 — 16315 + 360r°

—_

(8¢ + Tq +5)(—4¢° — 2¢* — 3¢*) (2¢" — 5¢* — 7¢7)
= —64¢™ + 72¢" + 328¢° + 536¢° + 531¢" + 292¢° + 105¢°

[}

(=8F AL 8 (AL + AL+ 81) (61— P+ 817
= 1921 — 128110 — 4001 — 16 — 5127 — 64f° + 512f°

w

(=9d° — 3d* — 64°%)(—6d> — 2d*> — 2d)(—9d> + 3d> — 2d)
= —486d" — 162d" — 540d° — 54d® — 174d" — 24d°

(Ty? + 5y + 8)(=8y® — 4y® + 2y)(2y° + 5y* — 5y)
= —112y% — 416y" — 200y° — 549° + 272y + 190y* — 80y>

(@

(4% +2¢ = 9)(7¢” + 3¢t + 4c*) (—2¢° + 8¢t — 3¢7)
— —56¢"% + 172 4 206¢° — 368¢” + 43¢% — 231¢" + 1088

[@))

7. (4c* = 3¢% + 5 (=3¢ + ¢ + 8¢)(Tc* + ¢ + 7¢%)
— 84" + 79¢1° + 277 — 28¢° + 359¢" — 938 + 280¢°

(p* = 5p® 4+ p)(—Tp* = 3p® + p*) (—Tp* + 6p* + Tp?)
— 49p™ — 266p'° + 80p” + 334p® + 8p" — 50p° + Tp°

09

e

(=2 4f = 8) ([ =T +517)(9f — 2 - 3f)
= —18fY + 166 % — 4447 4+ 7225 — 374 f° — 148 f* + 120 13

10. (—=c¢* = 9¢ — 5)(=7c* + 6¢° — 5c*)(—5¢? — ¢’ +7¢%)
= —35¢'0 — 29267 + 62¢% + 338¢" — 238¢5 + 80 + 175
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